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BRI (u Sv/h)

BAEEFH(ARE)

No. BIEISFT BIESZAT AlER BIERFZI Kz
HERMNS50cm | HRHNASTm

A EIE15 0.049 0.039 5811H 9:12 i3
EATER =555

1 = .

g 0.060 0.056 58118 9:05 3

A P& 0.039 0.040 5811H 13:40 s
BE/NER

2 RBE 0.032 0.029 58118 13:45 i3

A |RERE FAE3D 0.041 0.035 5A11E | 1351 s
XBOEHEZEY

3 M ma=~) ]z 0.033 0.036 5A1E | 1356 B

A Fe /&3 0.035 0.031 58118 14:05 s
BHES RS HE

4 B 0.039 0.035 5811H 14:08 s

A AL 0.051 0.042 58118 14:26 =5
BHEAREE

S BiDE 0.030 0.039 5811H 14:20 i
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HERMNS50cm | HRHNASTm
B EIE15 0.059 0.046 5812H 9:12 i3
EATRRE =555
1 — .
RRLET 0.057 0.056 58128 9:05 i
B P9 &3 0.026 0.029 5812H 9:29 s
EA PR
2 RBE 0.038 0.040 58128 9:24 i3
=] . E
B |mpmaza—5— 535 0.040 0.030 58128 9:43 5
o R—
3 JE3 Bl 0.034 0.031 58128 9:37 =3
B Fe /&3 0.035 0.034 5812H 9:55 s
R HE R
4 RBE 0.048 0.040 5812H 10:02 s
B Fe /&3 0.029 0.030 5812H 10:31 s
B B/NER
S R BE 0.034 0.023 5812H 10:25 s
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o] EIE15 0.057 0.045 5814H 9:12 i3
EAT&RT =555
1 = .
RRLET 0.063 0.050 5814H 9:05 i
o] P& 0.031 0.027 5814H 9:32 s
AR A /IR
2 RBE 0.047 0.044 58148 9:38 i3
pu : : &
o] B f.%ﬁmﬁ P9 /&3 0.040 0.036 5814H 9:56 iF5
CELEH
3 )= 0.036 0.031 58148 9:50 i
C P& 0.040 0.039 58148 10:06 iE3
HMEGE MR
4 BE 0.043 0.039 5H14H 10:10 =3
E4 . =
C ligapmne Fa/E L 0.028 0.031 5A148H 10:33 rE
REE
5 |*F BEE 0.029 0.029 55148 10:26 B
E] 3 . E3
C EHOTET P9 &8 0.039 0.028 5814H 10:47 iF5
XEEE— .
6 ErE 15 0.033 0.031 5814H 10:41 i
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D EYE 5 0.054 0.047 5815H 9:11 i
EATRE =57

1 = .

g 0.062 0.058 58150 9:04 &

p |RABEREM  |mmm 0.044 0.041 551560 10:35 W
XBEFHITTESD

2 Moy |EEE 0.043 0.038 5A158 | 1038 %

D P9 /&3 0.029 0.026 5815H 10:56 i3
RAGE PR

3 RBE 0.027 0.030 58158 10:50 i

D P9 /&3 0.038 0.034 5815H 11:10 i3
RAGE SHE

4 B3 0.041 0.042 5815H 11:03 =3

D AL 0.044 0.048 58158 11:14 =
HRGEARE

S BiDE 0.044 0.038 5815H 11:20 i
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No. 3BT AT BIE 5 AT BEE | AEEZ | XE
HEJAS50cm | HENSTmM

E ErEi5 0.049 0.038 5818H 9:12 £
EAT&ET -

1 E=HILY _ =

g 0.059 0.057 58188 9:05 .

E F4 &2 0.044 0.045 5818H 11:10 £
EVHHE

2 ) 0.048 0.045 58180 10:59 £

E Fq &2 0.038 0.045 5818H 11:13 £
EBRER

3 ) 0.032 0.031 5A18H 11:04 =

E Fq &2 0.048 0.037 5A18H 11:26 £
AR

4 % 0.049 0.041 5A18H 11:20 =

E BAEED] 0.048 0.046 5818H 11:37 2
EADRAREE

S JE3pull:lh 0.047 0.043 581880 11:32 2
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No. BIEISFT BIESZAT AlER BIERFZI Kz
HFEHS50cm | HEMNASTmM
F EIE15 0.065 0.051 5819H 9:12 55|
EATRE =57
1 — . =
RRLET 0.066 0.065 58198 9:05 53]
& 2 . : R
F J:#‘ﬁgk;‘ﬁﬁ# D% P9 &3 0.041 0.041 5819H 10:47 55|
CELEH
2 BE 0.034 0.036 58198 10:41 H®
F P9 /&3 0.048 0.048 5819H 11:03 55|
EAEZRER
3 BKEE 0.055 0.052 5H19H 10:57 5l
F P9 /&3 0.052 0.046 5819H 11:30 55|
HITDFINER
4 RBE 0.053 0.047 58198 11:24 w®
F AL 0.046 0.047 58198 11:11 5]
HITOFAREE
S [Pl 0.055 0.047 58198 11:16 5l
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G ErE15 0.051 0.043 5A21H 9:12 £
BN TR =555

1 — ) =

e 0.056 0.053 5821H 9:05 2

G F4 &2 0.042 0.032 5A21H 10:51 £
ETE/INER

2 R 0.033 0.033 58218 10:56 .

G Fq &2 0.037 0.029 5A21H 11:13 £
ETEREM

3 ) 0.035 0.028 58218 11:08 =

G BAEED] 0.041 0.042 582180 11:23 2
ETENREE

4 e3Pl 0.032 0.025 58218 11:17 E

G P98 0.036 0.032 58218 9:21 £
V&YESHE

S EiE
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No. BIEISFT BIESZAT AlER BIERFZI Kz
HEMNS50cm | HERHASTmM

H ErE15 0.051 0.040 5A22H 9:12 £
EATRE =57

1 — . =

RRLET 0.062 0.053 58228 9:05 2

H P9 &3 0.030 0.034 5822H 9:37 55|
HEECELR

2 BE 0.031 0.027 58228 9:32 H®

H P9 /&3 0.041 0.040 5822H 9:53 55|
BE & ER

3 BKEE 0.034 0.039 58228 9:47 5l

H P9 /&3 0.037 0.033 5822H 10:16 55|
BEE /IR

4 RBE 0.033 0.031 58228 10:21 w®

H AL 0.051 0.048 58228 10:06 5]
BHE&AREE

S [Pl 0.037 0.034 58228 10:00 W

H P9 &8 0.030 0.027 5H22H 10:35 55|
[ETh L sh#EE
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